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enqueue data=0, enqueue data=1, Queue Full, Queue Full, Queue Full,
dequeue data=0, dequeue data=1, Queue Empty, Queue Empty, Queue Empty,

#include <stdio.h> int main() {
#define SIZE 3 int k=0;
typedef enum{FALSE, TRUE} bool; /Ifront=index[0]; back = index[1];
bool isEmpty(int front, int back) { //dequeue data = index[2]
return (front==__(1) ); int index[3]={0, 0, 0};
} int data[SIZE];
bool isFull(int front, int back) { bool result;
return ((__(1) _ )==front); for (int i=0; i<5; i++) {
} result=enqueue(data, index, k++);
bool enqueue(int data[], int index[], int key) { if (result) printf("Queue Full, ™);
[[front = index[0]; back = index[1]; else printf(“enqueue data=%d, ", k-1);
if (isFull(index[0], index[1])) }
return FALSE; printf(*\n");
index[1] = __ (1) ; for (int i=0; i<5; i++) {
data[index[1]] = key; result = dequeue(data, index);
return _ (1V) if (result) printf("Queue Empty, ");
} else
int dequeue(int data[], int index[]) { printf("dequeue data=%d, ",index[2]);
/[ front = index[0];  back = index[1]; }
// dequeue data = index[2] return 0;
if (IsEmpty(index[0], index[1])) }
return FALSE;
index[0] = _ (V)
index[2] = data[index[0]];
return TRUE;
}
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